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Time Speed & Distance

1. A train running at 
7

11
 of its own speed reached a

place in 22 hours. How much time could be saved if
the train would run at its own speed?

, d jsyxkM+h v i uh Lo; a dh pky dh 
7

11
 pky l s

pydj fdl h LFkku i j 22 ?k.Vs esa i gq¡prh gSaA ; fn
jsyxkM+h v i uh Lo; a dh gh pky l s pys rks fdrus l e;
dh cpr gks t k, xhA

2. A car travelling with 
5
7

 of its usual speed covers

42 km in 1 hour 40 min 48 sec. What is the usual
speed of the car ?

, d dkj v i uh l kekU;  pky dh 
5
7

 pky l s 42 fdeh-

dh nwjh 1 ?kaVk 40 feuV 48 l sd.M esa r;  djrh gSA
dkj dh l kekU;  pky fdruh gSA

3. Buses start from a bus terminal with a speed of 20
km/hr at intervals of 10 minutes. What is the speed
of a man coming from the opposite direction towards
the bus terminal if he meets the buses at intervals of
8 minutes?
, d cl  LVs.M l s 10 feuV ds l e;  vUrjky l s 20 fd-
eh- ?kaVk dh pky l s cl  jokuk gksrh gSA foi jhr fn' kk l s
vkrs gq,  O; fDr dh pky D; k gksxh t ks 8 feuV ds l e;
vUrjky i j i zR; sd cl  l s feyrk gSA

4. Two guns are fired from the same place at an interval
of 6 minutes. A person approaching the place
observes that 5 minutes 52 seconds have elapsed
between the hearing of the sound of the two guns. If
the velocity of the sound is 330 m/sec, the man was
approaching that place at what speed (in km/hr)?
6 feuV ds l e;  vUrjky l s nks cUnwdks l s cqyV i Qk; j
dh t krh gSA , d O; fDr fdl h fn' kk l s vkrs gq,  i gys
cqyV dh èofu ds 5 feuV 52 l sd.M ckn nwl js cqyV
dh èofu dks l qurk gS ; fn èofu dh xfr 330 ehVj@l sd.M
gS rks O; fDr dh pky Kkr dhft , A

5. Sahil starts in Honda city-from Delhi towards Goa.
After sometime he realises that he will cover only
75% of the distance in the scheduled time and he
therefore doubles his speed immedixately and thus
manages to reach Goa exactly on time. Find the time
after which Sahil changed his speed, given that he
could have been late by 3 hours if he had not changed
his speed:

' kkfgy v i uh gksaMk fl Vh dkj l s fnYyh l s xksvk ds fy,
jokuk gksrk gSA dqN l e;  i ' pkr ml s Kkr gksrk gS fd
ml us fuèkkZfjr l e;  esa 75» nwjh r;  dh vkSj og rqjar gh
vi uh xfr dks nksxquk djus i j xksvk l e;  i j i gq¡p t krk
gSA ; fn v i uh xfr dks v i fjofrZr j[ krk gS rks og l e;
l s 3 ?kaVs dh nsjh l s i gq¡prk gS rks Kkr dhft ,  ' kkfgy
fdrus l e;  ds ckn v i uh xfr dks i fjofrZr djrk gSA

6. After travelling 3 hours a train meets with an acci-
dent due to this it stops for an hour. After this the

train moves at 75% speed of its original speed and
reaches to destination 4 hours late. If the accident
would occure at 150 km ahead in the same line then
the train reaches only 3.5 hours late. Then find the
distance of journey and the original speed of the train?

, d jsyxkM+h v i uh l kekU;  pky l s pyus ds 3 ?kaVs ckn
nq?kZVukxzLr gksus ds dkj.k 1 ?kaVk ds fy,  #d t krh gSA
vkSj ckn esa og jsyxkM+h v i uh l kekU;  pky dh 75»
pky l s pyus i j og v i us xarO;  LFkku i j 4 ?kaVs dh
nsjh l s i gq¡prh gSA ; fn nq?kZVuk 150 fd-eh- vkSj vkxs gqbZ
gksrh rks jsyxkM+h fl i QZ 3-5 ?kaVs dh nsjh l s i gq¡prh] rks
jsyxkM+h dh l kekU;  pky rFkk ; k=kk dh nwjh Kkr dhft , A

7. After travelling 25 km the speed of the car increases
by 1/4th of its original speed, due to this the car
reaches 30 minutes earlier to its destination. If the
speed of the car increased 10 km before, then it

reaches to its destination 
232
5

 minutes earlier. Then

find the distance travelled by car :

25 fd-eh- dh nwjh r;  djus ds ckn , d dkj dh

l kekU;  pky dks 
1
4

l s c<+kus i j v i us xarO;  LFkku i j

l e;  l s 30 feuV t Ynh i gq¡p t krh gSA ; fn dkj dh xfr
esa i fjorZu 10 fdeh- i gys dj fy; k t krk rks og dkj

l e;  l s 
232
5

 feuV t Ynh i gq¡p t krhA rks Kkr dhft ,

rks dkj us fdruh nwjh r;  dh\

8. A train moves from a station and after traveling 100
km meets with an accident. And then the speed of
the train reduces by 1/4th of its former speed. And
tavelling the remaining distance it reaches to its des-

tination 
71
8

 hours late. If the accident occured 60

km ahead then it reaches 15 min earlier. Then find
its original speed and the distance of its journey?

100 fdeh- pyus ds ckn , d jsyxkM+h nq?kZVukxzLr gksus
ds dkj.k ml dh l kekU;  pky esa 1@4 dh deh gks t krh

gS vkSj ' ks"k nwjh dks r;  djus esa 
71
8

 ?kaVs dh nsjh gks

t krh gSA ; fn 60 fdeh vkxs nq?kZVuk gqbZ gksrh rks i gq¡pus
esa l e;  15 feuV de yxrs gSA Kkr dhft ,  fd jsyxkM+h
dh l kekU;  pky rFkk ; k=kk dh nwjh fdruh gksxhA

9. After travelling 5 hours a train meets with an
accident. Due to this it has to stop 2 hours. After

this the train starts moving 
555 %
9

 of its speed, and

reaches to its destination 
212
9

hours late. If the

accident got occured 150 km ahead on the same

line then the train reaches to destination 
810
9

 hours
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TIME & WORK
1. A can do a piece of work in 30 days and B can do

same work in 60 days. In how many days will A & B
do this work together ?
A fdl h dke 30 fnu esa dj ysrk gSA vkSj B 60 fnu esa
dj ysrk gSA nksuksa feydj fdrus fnu esa djsaxs\

2. A, B & C can do a piece of work in 12, 15 & 20 days
respectively. In how many days will all three do this
work together ?
A, B, C fdl h dke dks 12, 15 vkSj 20 fnu esa [ kRe djrs
gSA rks rhuksa feydj bl  dke dks fdrus fnu esa i wjk djsaxsA

3. A + B can do a piece of work in 20 days and A can do
same work in 60 days. In how many days will B do
this work ?
(A + B) fdl h dke dks 20 fnu esa djrs gSA A vdsyk 60
fnu esa djrk gS rks B ml  dke dks fdrus fnu esa i wjk
djsxk\

4. A can do a piece of work in 10 days and B can do
same work in 15 days. Both A & B start the work and
after 3 days B left. In how many days will A  do the
remaining work?
A fdl h dke 10 fnu vkSj B, 15 fnu esa djrk gSA nksuksa
feydj dke i zkjEHk djrs gSA 3 fnu ds ckn B NksM+ nsrk
gSA vc A fdrus fnu esa dke dks i wjk djsxk\

5. A can do a piece of work in 20 days and B can do
same work in 25 days. Both A & B start the work and
after 8 days A left. In how many days will the total
work be completed ?
A fdl h dke dks 20 fnu  esa rFkk B 25 fnu esa dj ysrk
gSA nksuksa feydj dke i zkjEHk djrs gSaA A, 8 fnu ds ckn
NksM+ nsrk gSaA total work fdrus fnu esa [ kRe gqvk\

6. A can do a piece of work in 12 days and B can do
same work in 18 days. Both A & B start the work and
after some days A left and B complete the remaining
work in 8 days. After how many days will A left work?
A fdl h dke esa 12 fnu esa vkSj B, 18 fnu esa djrk gSA
A & B nksuksa feydj dke ' kq:  djrs gSA dqN fnu ckn A
NksM+ nsrk gS vkSj B ' ks"k dke dks 8 fnu esa i wjk dj nsrk
gSA rks A us fdrus fnu ckn dke NksM+k Fkk\

7. A can do a piece of work in 20 days and B can do
same work in 15 days. Both A & B start the work and
after some days B left and A complete the remaining
work in 6 days. After how many days will B left work?
A fdl h dke dks 20 fnu esa rFkk B, 15 fnu esa djrk gSA
nksuksa feydj dke ' kq:  djrs gSA dqN fnu ckn B NksM+ nsrk
gSA vkSj cps gq; s dke dks A, 6 fnu esa i wjk djrk gSA rks B
us fdrus fnu ckn NksM+k Fkk\

8. A + B can do a piece of work in 10 days. A works

12
2

days and B works for 
18
2

 days then half of the

work has been completed. In how many days will B

do this work alone ?
(A + B) fdl h dke dks 10 fnu esa dj l drs gSA A us

12
2

fnu dke fd; k pyk x; k B us 
18
2

 fnu dke fd; k

vkSj vk/ k dke i wjk gqvkA rks B ml  dke dks fdrus fnu
esa i wjk djsxk\

9. A + B can do a piece of work in 14 days. A works

13
2

days and B works for 
111
2

 days then half of the

work has been completed. In how many days will B
do this work alone ?
(A + B) fdl h dke dks 14 fnu esa dj l drs gSA A us

13
2

 fnu dke fd; k] vkSj pyk x; kA B us 
111
2

 fnu

dke fd; k pyk x; k vkSj vk/ k dke i wjk gqvkA rks B ml
dke dks fdrus fnu esa i wjk djsxk\

10. A + B can do a piece of work in 5 days. If A works

with twice of his efficiency and B works with 
1
3

of

his efficiency then work will be completed in 3 days.
In how many days will A do this work alone ?

(A + B) fdl h dke dks 5 fnu esa djrs gSA ; fn A vi uh

efficiency double dj ys vkSj B, 
1
3

 rks dke 3 fnu esa

[ kRe gks t krk gS rks A bl  dke dks fdrus fnu esa [ kRe dj
i k; sxk\

11. A + B can do a piece of work in 5 days. If A works
with twice of his efficiency and B works with half of
his efficiency then work will be completed in 4 days.
In how many days will A & B do this work alone ?
A vkSj B fdl h dke dks 5 fnu esa dj l drs gSA ; fn A
vi uh efficiency double dj ys vkSj B vk/ h djys rks
dke 4 fnu esa [ kRe gks t krk gSA A vkSj B bl  dke dks
vyx&vyx fdrus fnu esa dj l drs gSA

12. A  can do a piece of work in 4 hours. B + C can do
the same work in 3 hours. A + C can do the same
work in 2 hours. In how many hours will B do this
work alone ?
A fdl h dke rks 4 ?kaVs es dj l drk gSA B vkSj C ml s 3
?kaVs esa dj l drs gSA A vkSj C 2 ?kaVs esa dj l drs gSA rks
crkvksa fd B vdsyk fdruh nsj esa djsxk\

13. A can make 
1
3

part of a wall in 9 days and B can

make 
2
3

part of a wall in 9 days. In how many days

will A & B complete the total work ?
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work in 9 days. If A work for 3 days, then B com-
plete the remaining work in 6 days. In how many
days will A & B do this work alone ?

A 2 fnu rd dke djrk gS pyk t krk gSA B ' ks"k dke dks
9 fnu esa i wjk djrk gSA vxj A 3 fnu rd dke djrk rks
B ' ks"k dke dks 6 fnu esa [ kRe dj nsrk rks crkb; s A vkSj
B vyx&vyx bl  dke dks fdrus fnu esa i wjk djasxsA

19. A can do a piece of work in 80 days. A works for 10
days, then B complete the remaining work in 42 days.
In how many days will A + B & B do this work re-
spectively  ?

A fdl h dke dks 80 fnu esa djrk gS vkSj A, 10 fnu rd
dke djrk gS vkSj pyk t krk gS cpk gqvk dke B, 42 fnu
esa [ kRe dj nsrk gSA rks (A + B) feydj bl  dke dks
fdrus fnu esa i wjk djsxsa\

20. A & B can do a piece of work in 45 days and 40 days
respectively. They start the work together but A leaves
after some days then B complete the remaining work
in 23 days.After how many days did A leave the work?

A fdl h dke dks 45 fnu esa rFkk B, 40 fnu esa dj l drk
gSA os nksuksa , d l kFk dke ' kq:  djrs gSA ysfdu A dqN
fnu ckn NksM+ nsrk gS vkSj fi Qj B cps gq; s dke dks 23
fnu esa [ kRe djrk gSA rks crkb; s fd A us fdrus fnu ckn
dke NksM+k Fkk\

21. A & B can do a piece of work in 20 days and 30
days. A start the work and they do this work in alter-
nate days.In how many days will this work be com-
pleted ?

A fdl h dke dks 20 fnu esa rFkk B ] 30 fnu esa dj
l drk gSA A us dke ' kq:  fd; k vkSj nksuksa Alternate days
dke djrs gSA rks i wjk dke fdrus fnu eas [ kRe gksxkA

22. A & B can do a piece of work in 20 days and 25
days. A start the work and they do this work in alter-
nate days.In how many days will this work be com-
pleted ?

A fdl h dke dks 20 fnu esa rFkk B, 25 fnu esa i wjk dj
l drk gSA A dke ' kq:  djs vkSj ; s Alternate days dke
' kq:  djs rks i wjk dke fdrus fnu esa [ kRe gks t k; sxk\

23. A, B & C can do a piece of work in 12, 15 and 20
days. How much minimum time should be required
to complete this work if more than two persons can
not work in a day and in any two consecutive days
same pair can not work ?

A, B, C fdl h dke dks 12, 15, 20 fnu esa djrs gSA bl
dke dks [ kRe djus esa fdruk minm time yxsxk ; fn , d
fnu esa 2 l s T; knk O; fDr dke ugha dj l drs] Same
couple nks consecutive fnuksa esa work ugha dj l drsA

24. A, B & C can do a piece of work in 10, 20 and 25

A , d nhokj dk 
1
3

 Hkkx 9 fnu esa cuk nsrk gS vkSj B ml

nhokj dk 
2
3

] 9 fnu esa cuk ysrk gSaA nksuksa feydj ml

dke dks fdrus fnu esa i wjk djsxk\

14. A can do 
13
56

part of a work in 111 days and B can do

43
56

 part of a work in 111 days. In how many days

will A & B complete the total work ?

A fdl h dke us 
13
56

 dks 111 fnu esa djrk gS t cfd B,

43
56

 dks 111 fnu esa djrk gSA rks nksuksa feydj fnu esa i wjk

djsxssaA

15. A can do 
1
4

part of a work in 21 days and B can do 
1
4

part of a work in 7 days. In how many days will A &
B complete the total work ?

A fdl h dke ds 
1
4

 dks 21 fnu esa djrk gS t cfd B,

1
4

 dks 7 fnu esa djrk gS rks nksuksa feydj fdrus fnu esa

djsaxsA
16. A + B can do a piece of work in 12 days. B + C can

do same work in 16 days. A work for 5 days, B works
for  7 days and C completed the remaining work in
13 days. In how many days will A, B & C do this
work alone ?

(A + B) fdl h dke dks 12 fnu esa djrs gSA (B + C) bl h
dke dks 16 fnu esa djrs gSaA A 5 fnu dke djds pyk
x; k] B  7 fnu dke djds pyk x; k rFkk cpk gqvk dke
C us 13 fnu esa i wjk dj fn; kA rks A, B, C vyx&vyx
bl  dke dks fdrus fnu  esa i wjk dj l drs gSA

17. A + B can do a piece of work in 12 days. B + C can

do same work in 
26
3

 days. A work for 3 days, B

works for  4 days and C completed the remaining
work in 7 days. In how many days will A, B & C do
this work alone ?

(A + B) fdl h dke dks 12 fnu esa djrs gSA (B + C) bl h

dke dks 
26
3

 fnu esa djrs gSaA A  5 fnu dke djds pyk

x; k] B  7 fnu dke djds pyk x; k rFkk cpk gqvk dke
C us 13 fnu esa i wjk dj fn; kA rks A, B, C vyx&vyx
bl  dke dks fdrus fnu  esa i wjk dj l drs gSA

18. A work for 2 days, then B complete the remaining
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alone complete this work ?
A fdl h dke dks djus esa B l s 24 fnu vkSj C l s 32 fnu
T; knk ysrk gSA C vdsyk mruk dke djrk gSA ft ruk A
vkSj B feydj djrs gSA rks A, B, C rhuks vyx&vyx
fdrus fnu esa djsaxsA

30. A takes 5 days more than B and 9 days more than C
to complete a work. C works as much as A + B works
togehter. In how many days will B & C together com-
plete this work ?
A fdl h dke dks djus esa B l s 5 fnu rFkk C l s 9 fnu
T; knk ysrk gSA C vdsyk mruk dke djrk gS ft ruk A vkSj
B feydj djrs gSA rks B vkSj C feydj  bl  dke dks
fdrus fnu esa djsaxs\

31. A takes 6 hours more than A + B + C together to
complete a work. B takes 1 hours more than A + B +
C together to complete a work. C takes twice as  A +
B + C together to complete a work. In how many
days will A & B together complete this work ?
A fdl h dke dks djus esa (A + B + C) l s 6 ?kaVs T; knk
ysrk gSA t cfd B bl h dke dks djus esa (A + B + C) l s
1 ?kaVs T; knk ysrk gSA C ml h dke dks djus esa (A + B +
C) l s nks xquk l e;  ysrk gSA rks (A + B) bl  dke dks
fdrus fnu esa djsaxs\

32. A & B together can do a piece of work in 12 days.
While B & C together can do a piece of work in 8
days. C & A together can do a piece of work in 6
days.In how many days will this work be completed
by B alone?
A vkSj  B fdl h dke dks 12 fnu esa djrs gSA t cfd B
vkSj C ml  dke dks 8 fnu es dj l drs gS vkSj C & A,
6 fnu esa dj l drs gS rks B fdrus time esa djsxk\

33. A & B togehther can do a piece of work in 12 days.
While B & C togehther can do a piece of work in 15
days. C & A togehther can do a piece of work in 20
days.In how many days will this work be completed
by A, B & C alone and A + B + C together ?
(A + B) fdl h dke dks 12 fnu esa djrs gS vkSj (B + C)]
15 fnu esa djrs gSA vkSj (C + A)] 20 fnu es djrs gSA rks
(A + B + C)] A, B, C fdrus&fdrus fnu esa dke djsxs\

34. A takes as much time as B & C together to complete
a work. While A & B together can do this piece of
work in 10 days. C alone can do this piece of work in
50 days.In how many days will this work be com-
pleted by B alone?
A fdl h dke dks mrus l e;  esa djrk gS] ft rus l e;  eas
B vkSj C feydj djrs gSA A vkSj B bl  dke dks 10 fnu
esa dj l drs gSA t cfd C vdsyk 50 fnu esa dj l drk
gS rks B vdsyk bl  dke dks fdrus fnu esa djsxk\

35. A is 40 % more efficent than B. If B can complete
this work in 40 days then in how many days will both
A & B complete this work ?
A, B l s 40% T; knk n{k gSA ; fn B bl  dke dks 24 fnu
esa [ kRe djsa rks nksuksa feydj fdrus fnu es [ kRe djsaxs\

days. How much minimum time should be required
to complete this work if more than two persons can
not work in a day and in any two consecutive days
same pair can not work ?

A, B, C fdl h dke dks 10] 20] 25 fnu esa [ kRe djrs
gSA bl  dke dks [ kRe djus esa fdruk minm time yxsxkA
; fn , d fnu esa 2 l s T; knk O; fDr dke ugha dj l drs
same couple nks consecutive fnu esa work ugha dj
l drs\

25. A takes 27 days more than A + B together to com-
plete a work. B takes 3 days more than A + B to-
gether to complete a work. In how many days will A
+ B complete this work ?

A fdl h dke dks djus esa (A + B) l s 27 fnu T; knk ysrk
gSA B ml h dke dks djus esa (A + B) l s 3 fnu T; knk ysrk
gSA rks (A + B) fdrus fnu esa dke djsaxs\

26. A takes 
14
2

 days more than A + B together to com-

plete a work. B takes 8 days more than A + B to-
gether to complete a work. In how many days will A
+ B complete this work ?

A fdl h dke dks djus esa (A + B) l s 
14
2

fnu T; knk

ysrk gS t cfd  B ml h dke dks djus esa (A + B) l s 8
fnu T; knk ysrk gSA rks (A + B) fdrus fnu esa bl  dke dks
djsaxs\

27. A takes 
15
3

 days more than A + B together to com-

plete a work. B takes 
18
3

 days more than A + B to-

gether to complete a work. In how many days will A
& B alone complete this work ?

A fdl h dke dks djus esa (A + B) l s 
15
3

l e;  T; knk

ysrk gSA t cfd B bl h dke dks djus esa (A + B) l s 
18
3

l e;  T; knk ysrk gS rks A vkSj B bl  dke dks vyx&vyx
fdrus fnu esa dj l drs gS\

28. A takes 7 days more than B and 16 days more than C
to complete a work. C works as much as A + B works
togehter. In how many days will A, B & C alone com-
plete this work ?
A fdl h dke dks djus esa B l s 7 fnu vkSj C l s 16 fnu
T; knk ysrk gS] C vdsyk mruk dke djrk gS ft ruk A vkSj
B feydj djrs gSA rks A, B, C rhuksa vyx&vyx fdrus
fnu esa djsaxs\

29. A takes 24 days more than B and 32 days more than
C  to complete a work. C works as much as A + B
works togehter. In how many days will A, B & C
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36. A works thrice as much as B. If A can complete this
work in 12 days then in how many days will both A
& B complete this work ?
A, B l s 3 xquk dke djrk gS ; fn A bl  dke dks 12 fnu
esa [ kRe djs rks nksuksa feydj fdrus fnu esa djsxs\

37. B works four times as much as A. If B takes 15 days
less than A to complete this work. In how many days
will A & B alone complete this work ?
B, A l s 4 xquk dke djrk gSA B, A l s 15 fnu de ysrk
gSA nksuksa vyx&vyx fdrus fnu esa djsxsa\

38. A is 40 % more efficent than B and B is 20 % less
efficent than C. If A takes 6 days less than C to com-
plete a work, then in how many days will B complete
this work ?
A dh efficiency, B l s 40» T; knk gSA vkSj B dh effi-
ciency, C l s 20» de gSA ; fn A fdl h dke dks djus esa
C l s 6 fnu de ysrk gSA rks crkvksa B fdrus fnu esa
djsxk\

39. A takes three times as long as B + C together to com-
plete a work. B takes four times as much as A + C
together to complete a work. If all the three , work-
ing together can complete the work in 22 days, then
the find the number of days, A, B & C alone wiil take
to complete the days.

A fdl h dke dks djus esa (B + C) l s 3 xquk l e;  ysrk
gSA t cfd B ml h dke dks djus esa (A + C) l s 4 xquk
l e;  ysrk gSA ; fn (A + B + C) feydj bl  dke dks 22
fnu esa dj ysrs gS rks rhuksa vyx&vyx fdrus fnu essa
djsaxs\

40. B takes two times as long as A + C together to com-
plete a work. C takes three times as much as A + B
together to complete a work. If all the three , work-
ing together can complete the work in 25 days, then
the find the number of days, A, B & C alone wiil take
to complete the days.
B fdl h dke dks djus esa (A + C) l s 2 xquk l e;  ysrk
gSA t cfd C ml h dke dks djus esa (A + B) l s 3 xquk
l e;  ysrk gSA ; fn rhuksa feydj bl  dke dks 36 fnu esa
[ kRe dj ysrs gSA rks A fdrus fnu esa djsxk\

41. A does half as much as work as B in 
1
6

of the time. If

together they take 10 days to complete a work, how
much time shall B take to do it alone ?

B fdl h dke dks ft rus l e;  esa djrk gS ml ds 
1
6

 l e;

esa] A vk/ k dke djrk gSA ; fn nksuksa feydj bl  dke dks
10 fnu esa [ kRe dj  l drs gS rks B fdrus fnu esa djsxk\

42. A does half as much as work as B in 
3
4

of the time. If

together they take 18 days to complete a work, how

much time shall B take to do it alone ?

B fdl h dke dks ft rus l e;  esa djrk gS ml ds 
3
4

 l e;

esa] A vk/ k dke djrk gSA ; fn nksuksa feydj bl  dke dks
18 fnu esa [ kRe dj  l drs gS rks B fdrus fnu esa djsxk\

43. A, B and C can do a work in 25, 40 and 60 days
respectively. All three start the work together and
work for 5 days then A left and B left 10 days before
the completion of work, how much time shall be taken
to do whole work?

A fdl h dke dks 25 fnu esa B, 40 fnu esa vkSj C, 60 fnu
esa djrk gSA rhuks us 5 fnu rd dke fd; k bl ds ckn A
us dke NksM+ fn; kA B us dke [ kRe gksus l s 10 fnu i gys
NksM+ fn; k rks dke fdrus fnu esa i wjk gqvkA

44. A, B and C can do a work in 10, 12 and 15 days
respectively. All three start the work together but A
left 5 days before the completion of the work and
after 2 days B left, how much time shall be taken to
do whole work?

A, B, C fdl h dke dks 10, 12, 15 fnu esa dj l drs gSA
A us dke l ekfIr l s 5 fnu i gys NksM+ fn; k vkSj ml ds
2 fnu ckn B us NksM+ fn; k rks ; g dke fdrus fnu esa [ kRe
gksxk\

45. A and B can do a work in 20 and 30 days respec-
tively. They start the work together and work for 7
days then both left and C complete the remaining
work in 10 days, how much time shall be taken by C
to do whole work?

A fdl h dke dks 20 fnu esa vkSj B ml h dke 30 fnu esa
djrk gSA nksuksa feydj 7 fnu rd dke djrs gSA vkSj
ml ds ckn nksuksa gh NksM+ nsrs gS ml ds ckn C cps gq; s dke
dks 10 fnu esa [ kRe dj nsrk gS rks C vdsyk i wjs dke dks
fdrus fnu esa [ kRe djsxk\

46. A and B together can complete a job in 8 days. Both
B and C working alone can finish the same job in 12
days, A and B commence work on the job, and work
for 4 days, where upon A leaves, B continues for 2
more days and then he leaves too, C now starts work-
ing, and finishes the job, how many days will C re-
quire ?
(A + B) fdl h dke dks 8 fnu esa djrs gSA B vkSj  C
vyx&vyx bl h dke dks 12 fnu esa djrs gSaA A vkSj  B
feydj 4 fnu rd dke djrs gS vkSj ml ds ckn A NksM+
nsrk gS vkSj ml ds 2 fnu ckn B us NksM+ nsrk gSA ml ds ckn
C cps gq; s dke dkss vdsyk fdrus fnu esa [ kRe djsxk\
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